Midterm Exam

Economics 4020(001), Fall 2008

Total: 30 points
Part 1: Economy in the Long Run (Classical Macroeconomic Models)

For both of the following two questions, “saving” or S is defined as full employment saving.  Answer any one of the following two questions (20 points):

1. According to the classical theory, a capitalist economy tends to self-adjust to achieve market-clearing equilibrium.  Consider an economy described by the following equations:

Y = C + I + G

C = 1,500 + 0.5(Y – T)

I = 4,000 – 100r
G = 1,000

T = 1,000

Y = 10,000


All letters/symbols have their usual meanings in macroeconomics.  Find the market-clearing real interest rate.  At the market-clearing real interest rate, what is investment and what is national saving? (show how you have derived your answers)

Now suppose, investment is less than saving and the economy operates at below full employment.  According to the classical theory, how should the economy adjust to achieve market-clearing equilibrium (that is, to move towards full employment)?


The classical theory of market self-adjustment is in fact based on flawed assumptions.  Discuss why the classical theory is flawed and why the economy could fail to move towards market-clearing equilibrium.

2. According to the classical theory, a capitalist economy tends to self-adjust to achieve market-clearing equilibrium.  Consider a small open economy described by the following equations:

Y = C + I + G + NX

C = 2,500 + 0.5(Y - T)

I = 3,000 – 100r
G = 1,000

T = 1,000

NX = 1,000 - 1000є

Y = 10,000

r = r* = 10

Where r* stands for world real interest rate and є stands for real exchange rate.  The rest of the letters/symbols have their usual meanings in macroeconomics.  Find the market-clearing real exchange rate.  At the market-clearing real exchange rate, what is trade balance, what is investment, and what is national saving? (show how you have derived your answers)

Now suppose, NX is less than S – I and the economy operates at below full employment.  According to the classical theory, how should a small open economy adjust to achieve market-clearing equilibrium (that is, to move towards full employment)?


The classical theory of market self-adjustment for a small open economy is in fact based on unrealistic assumptions.  Discuss why the underlying assumptions of the classical theory of market self-adjustment might be unrealistic and why the economy could fail to move towards market-clearing equilibrium.

Part 2: Theories of Money

Answer the following question (10 points):

Explain what is the quantity theory of money and what is the classical dichotomy.  What are the underlying assumptions of the quantity theory of money?


Explain what is the liquidity preference theory of money.  How does the liquidity preference theory of money contradict the quantity theory of money?


Assume the central bank controls the money supply.  Draw a graph showing the operations of the money market that is consistent with the liquidity preference theory of money?  In your graph, show how the equilibrium interest rate is determined in the money market.


Now suppose there is a financial crisis.  In your graph of money market, show how financial crisis is likely to affect money demand and interest rate.  What is likely to be the impact of the financial crisis on the real investment? 
